36070

BEDIENUNGS-
ANLEITUNG

Seite 21
von 23

Explosionszeichnung

im
ll/_ ‘\

L]
442 7 5
\ 1B \\ L)\ » s
| \ | "o \ ) '
! 'nnm:i%ﬁﬂl‘:él lo of ®
(1] ' a ) ‘.,‘ {=a

(1] 2_: 1 %m
1
| \ /
| 2 \
- 1
3 s !




36070

BEDIENUNGS-
ANLEITUNG

Seite 22
von 23

Ersatzteilliste

Nr. Beschreibung Anzahl Nr. Beschreibung Anzahl
1 |Vorderes Gehduse 1 40 |Schraube M6x40 3
2 |Schraube M10x30 3 41 |Riemenscheibe Schneidscheibe 2
3 |Hinteres Gehduse 1 42 |Kegelhilse 1# 1
4 |Lager UCFLU205 1 43 | Oberer Riemenschutz 1
5 Mutter M8 13 44 | Rad 2
6 |Schraube M8x30 9 45 | Splint 3x30 2
7 | Elastische Unterlegscheibe 8 15 46 | Unterlegscheibe 8 19
8 |Schneidscheibe 1 47 | Schraube M8x16 4
9 Messer 2 48 | Motor 1
10 |Unterlegscheibe 20 2 49 |Schraube M8x40 4
11 |StandfuB 1 50 |GroRe Unterlegscheibe 8 5
12 |Motorhalter 1 51 |Motorriemenscheibe 1
13 |Selbstsichernde Mutter M12 2 52 |Kegelhiilse 1
14 | Mutter M10 12 53 |Lager UCFLU206 1
15 |Unterlegscheibe 10 10 54 | Mutter M6 15
16 |Riemenspannhebel 1 55 |Schraube M6x20 2
17 |Mutter M12 5 56 |Fixierplatte | 1
18 |Unterlegscheibe 14 6 57 |Fixierplatte Il 1
19 |Gewinderstange 1 58 |Gummiklappe 1 1
20 |Einstellhilse 1 59 |Oberer Einwurfschacht 1
21 |Elastische Unterlegscheibe 10 10 60 |Untere Riemenabdeckung 1
22 |Schraube M10x60 4 61 |Schutzkeder 2
23 |Unterlegscheibe 12 9 62 |Schraube M5x10 1
24 | Grole Unterlegscheibe 12 1 63 | GroRe Unterlegscheibe 5 1
25 | Griff, Hebel 1 64 |Keilriemen 2
26 |Elastische Unterlegscheibe 14 6 65 |Schraube M6x16 4
27 |Unterlegscheibe 1 66 |Fixierplatte 3 1
28 |Schraube M8x20 5 67 |Gummiklappe 2 1
29 |Verbindungsplatte 1 68 | Unterlegscheibe 6 15
30 |Gegenschneide 1 69 |Unterlegscheibe 10 5
31 |[Schraube M8x25 2 70 |Schraube M14x40 4
32 |Schraube M10x130 5 71 |Achse 1
33 |Selbstsichernde M8 4 72 | Schraube M12x30 2
34 |Ausgleichsplatte 1 74 | Mutter M14 4
35 |Fixierplatte 1 75 | Elastische Unterlegscheibe 6 3
36 |[Hebel 1 76 |Selbstsichernde Mutter M10 2
37 | Deflektor 23 77 |Schraube M14x55 2
38 |Auswurfschacht 1 78 | Flachmutter M14 2
39 1 80 |Lagerabdeckung 1




BEDIENUNGS-

36070

ANLEITUNG

Seite 23
von 23

81

82

1
1




